
Integrationbytoigonometricsubstitu.fi#
Goal : use trigonometric substitution to simplify integrand.
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Annates.

Recall : ffcacxp.de#dsc--ffcu3du/U=UCx) .
a → b Uca) → ucb)

In u - substitution , we tried to go from left to right-

Trigonometric substitution goes from night to left
.
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Trigonometric identities . I
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d. Solve the indefinite integral fr⇒dx .

using same steps : let x= a sin@ ⇒ daff = aces@ is



Example (contd) x- asin@ ⇒ sine -- I
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Example ,cxt-2ax-a27-bf.cn#zd'-s1cx+afI
22+4×+7 =

921-4×+4 - 4+7 = (Xt} +3 .
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Examplecontd.fr#u*da=BfsseizfdO
= IT f I do
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Example
solve fdocx2M¥
Let a = 4 see O

daff = 4 seeOtomo ⇒ doc → Used tone do

f1-
tested tone do

4HoseiO J¥-6

= ¥f tone doseed 4 tonto

= Iz f cosOdo
= If Sino + c
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